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And the owner of the coal should be liable - nbmaT DY 297

OVERVIEW

The mwn stated that if a dog took a smoldering biscuit and set fire to a granary, the
owner of the dog is liable to pay a P11 °xn1 for the granary. The X723 asks that
(seemingly) the owner of the coal (biscuit) should be liable [for burning the
granary]. N1901N points out that the wording of the question is inaccurate.
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This expression (of n>mx7 Hva 2»1°9) is not precise, for the X3 establishes the

mwn in a case where the dog ate the 7177 in the granary of the 779917 Y¥3; so how

can we say that the nnai 9v2 should be liable for the w73, since it is his w>7a!
- 295997 ON ¥ BYWI X9 NN Yya by IPYNN 2Y5N HYa VIOV 912195 NON

But rather the question of w7377 9¥2 2119 means that the dog’s owner should be
exempt from the portion of the coal’s owner, and the 27577 5va should only pay
a fourth of the damages.

nvoIn asks:
- *m99nn 19 205N HYa V9 7999 NI INNINY 9NINN ON)

And if you will say; why does not the X3 ask, ‘and let the 39277 Yp2 be s
from paying for the 77917’ —

mooIn responds:
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! See the bottom of this Tmy.

% This is in contrast to 21 7"7 >"w19 who writes, A7 W*TA T07 779M NoMAT 7"0p). See 1"nX # 52.

? See the previous 27m 7"7 ‘01 that the question is that the 29571 %¥2 and the nnx 2¥2 are both equally responsible

for the burning of the w>7. The total liability for the w>73 is (as the m1wn states) a 1"m. If it would be a w>7a of a third

party the nnan 5¥21 2907 5¥2 would each pay a fourth of the damage (together a 1"11). Now that we are discussing the

w73 of the nora 2¥2 (even though the n2man 2 obviously does not pay, nevertheless), the 29571 v should only pay

his half (which is a P11 ¥°27) to the w>737 Yv2 and the w31 Hva would have to suffer the loss of the other pr1 >van

(besides the entire other 1"17) since he too was a partner in this crime. See ‘Thinking it over’ # 1.

* The mwn stated that the 22271 %¥2 has to pay a w"1 for the 777 and a 11 for the w73, The X7»3 asks why the v

293171 should pay for the w73 since the nonam v1 is also responsible. Seemingly the X3 could have (also) asked why

the 27377 Y¥2 should pay for (entire) 7171 since the nonx %¥1 is also responsible. See ‘Thinking it over’” # 2. See *"19

that the question is that the 22377 2¥2 should be 115 completely, for since the 7717 %v2 did not watch his 797, it is

considered as if he left it in an open space and there can be no 211 of 1w for eating something in an exposed area.

See n"m1 for an alternate explanation (of the >"19).

> A person must be extremely careful that he or his possessions should not harm others. Therefore if he did not guard

the nom properly and it damaged he is (partially) negligent and liable. However, he need not be that concerned that
1
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And it appears that we can infer from here that a person has to be more
careful that he should not damage others, than he should be concerned that he

should not be damaged, so therefore the rule is -
= ©YINN PO XDV 97 951920 029 MY 1Y PRY %9 DY X 2751 19 INHN) MIYY 3NNy

That the n>nan Sva is obligated to guard his n»nx from the dog (that the dog
should not take it) even though the dog has no right to enter his house and take
the n%n), nevertheless the N1 9va has this responsibility in order that he should

not damage others with the non3; this 77°»w is an obligation; however -
- 71)‘\‘1‘1!’1 91099 975 255 U119 NHY Y713 18y MY Sawany

It is [not necessary] to watch himself, so the dog should not enter in order to
take his biscuit —

moon offers a proof to this contention that the obligation to prevent damage is greater than the
one to prevent being damaged:
= 29157 933 MY YWD HPNI ON 7999 81"1‘1‘,7‘1 PHVIYI (x5 97 mp%) N3N YNRYN 1)

And it seems so in 717 P79 regarding the discussion of the ‘potters’, where
the X n3 asks, ‘if tripping is considered negligence the second one should also
be 2%°17’; this concludes the citation from that X723 -
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It is evident that even if the second is considered a Yw2 in his tripping to be
held liable for the damage to the third, nevertheless he is not considered a yunp

that the first should not be liable for damaging the second. This proves that in the
same act one may be considered a Yy regarding damaging others but not a ¥v1o regarding
protecting oneself.

his items should not be damaged. Therefore even though he did not guard the 717717 properly that it should not be
taken by the dog, nevertheless (since it was in his mwn) he is not considered as a negligent partner in this crime
(because he left his 7771 open for all to take), but rather the (owner of the) dog is deemed to be the entire
responsible party for taking away the 717717 and is therefore entirely liable.
® See the marginal note which amends this to read 12 X1 or (") 1% X1 instead of woR).
7 Therefore the 7777 v2 was not a ¥ and the 2957 9v2 is liable for the entire 77
¥ The X1 there cites a Xn»12 which states if three potters were walking one behind the other and the first one
tripped, and the second tripped on the first and the third tripped on the second. The rule (according to X27) is that the
first is liable for damages he caused to the second whether they were caused by the body of the first or the utensils
of the first; However the second is only liable for the damages his body caused to the third but not for the damages
caused by his utensils, w"»y. The X3 asks if tripping is considered negligence, the second should be liable for the
third as much as the first is liable for the second.
? Seemingly if the second is a 29 in his tripping to the extent that he is liable for "w">w P11, why should the first
pay the second since the second was at fault (y219) for tripping and damaging himself.
' Similarly here the noma 9v2 is a ¥ for not preventing damage to others, but is not considered a ¥y for not
preventing damage to himself.
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SUMMARY

The question of nnan 2¥2 29 means that the 29571 ¥2 should be exempt from
paying the half that the n>nx7 ¥2 would have paid to a third party. There is no
question that the 22277 %¥2 should be exempt for eating the 779, for regarding the
protection of his property the 777177 9¥2 was not negligent.

THINKING IT OVER

1. mooIn explains the question of N7 H¥a 2°°171 that the 22577 Hva should only pay
half of a 1"n (for the nbmx7 Y¥a is liable for the other half).!' Previously the X723
stated that "7 interprets the miwn that the dog threw the n>mx on the w7 and
therefore he pays only a 1"n on the n%nan 0pn (because of mM1x). Why cannot we
say that the 295 placed it on the w73 (so it is not MM¥) and he pays only a 11
because the nbmai Hva is liable for the other pri >xn, since he did not guard the
coal?!"

2. mooin asks why the X3 does not (also) ask that the 2377 9¥2 should be 7109 on
the 777n."° Why does mpoin assume that this is not included in the question of
nbma Sy aon?t

' See footnote # 3.
12 See T X"
13 See footnote # 4
14 See 1Mo "won XK # 58.
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